SHSEE (20234)

FRRMIL =B /MER

2023/5/1
RE ZH sh—

FHERTEFTER
68 7R

| 4F 5H 8H 9H
G 1 [SEmRE 1 ERAm 1 | [ZRERE 1 [EER BFBAR
(~38) B HRE( 235%) FRER GRS &1
+ A K + x o
OERSA OERER HHEE B
- 2| wmarm 2 2 2 2
=] K| REETFH £ =] K +
3 3 [BERsH NEETLE 3 B2 EEREAM 3 [BAEEED 3
PTAZREIR ®Z8%
A kK + B |oegss X A
#EYDHE RRME BEs
4 4 4 4 4 4 Omipen 282
* X A % % A |sbsmEan
5 | NERER 5 |[cEE0R 5 [FRABED 5 |©%/% 5 5
REKRER 1~3ESERE TR
VIS i A K + X
6 [AFR 6 6 6 6 6
x + X PN 5| 7K
7 Eﬁé EFHRR 7 7 7 7 7
kol A 7K ol A PN
B TREREHS GE
8 8 ©2/5 § 8l epamzns & 8 8 | smsmmTa
4 A SITHET | K + W £
TSR TR TBREBE 2
o O | R am) o o o r o
B X o =} K +
BRI Z£0R HRERT A Z20H AEALE
10 |spspgime 10 10 10|@#n %10 10
REOA SHTHE i)
B K 3t B K =
11 |®REHR 11[EE(1~5%) 11 11| B AR 11D B 11|8% %
SEFRR F3R1(1-2%) PTAR{TEA® (G2 T
N |mEEBRES X =] X &= B |&iTaE E
12 f]%&fff;a 12 12|0Fa% 12|EABE 12 12
Ik | BEEARE ol A b3 b X
HEERE (2-5%) [GPN:EH [GEIN
st 13 13 13 13 18 s memmri
K + x® PN 5| 7K
& |eB -6k A 7k ol A K
OEEE
15 15002 15 15 15 15
a3t A K + x® v ol
16 16|ANTAL 16 16 16 16
H X & =} 7K +
17 i;l';‘i‘éﬁi%%%ﬁ 17|EATRAN 17 17|®0H 17 17
FHBRE
A b3 + A K =]
ﬁ%@;ﬁggggﬂﬁ 18| BIETHIE 18 18 18 1g8|HENA
X 1~3ESHRH TR 7'( =] x ﬁ H
REHR RERAS 3 2 [19/REET OEBERITAE
19 s 19 19162« | 19 19  sromm i
VIS & ZAESIE i % |7k + PY
K2 FAERAS) EEDLE EES:N EEE]
20| 3 e 20 20 20822, 20 20
K + x® PN =] 7K
REHR SRHEEE EHREARERE
2 Srmmm 21 21 2 2155 2 manas
> A 7k & A PN
2 @210 ®2/1
2 22 HRBHBRZ(14) 22 e 22 22 1~ 345 T
T A K + X Eol
23 23| REE=RO 23 23 23 23(H50A
H X & =} 7K +
24|®@&1 24 24 24 24 24
A 7K + A X A
REHR ERRE (2R ®&
zj sEFMiERIRE ;2 i: Zf 2; 2; B ohsEan
X | RigE—RD X & B
26 %ﬁéaﬁﬁ—%k@) 26| ARERE (1~4%F) 26 @zl\‘ 26 26 26
K % Al K £ *®
6EBEIRT
27| R 27 27 27 27 27
K + x PN A 7K
6EBEIRT
28 s 28 28 28 28 28
Eol A 7K £l A EN
EEAOY] FEREER TREETHS
29 D|pe e 29| aEEm 29 29 29
T A K + P ol
30 30 30 30 30 30
=] X & B K T
31| RRE=RQ@ 31 31
7K A VN
B N




2023/5/1

s - S = A
FEITEFER  MRTL=BNER  (2023F)
10H 118 12H 18 2H 3H
1 [FAERAAS RECEEYL 1 PRE: 1 1 [DEERERGE)
PTAREZ
H 7K & B X £
CEEES OEREH OERE B
2 DEmem 2 eummzas 2 2 2 ~
A VN + X & +
3 3 [XfoB 3 3 3 3
X & =] 7K + =|
4 [GELN 4 4 AEBR(~12/10) 4 OERER 4 4 OERER s
1 ~3ESEM TR DR B ©Z82 (B#)
K + B |#% 0957 X A A |#Esras
5 |BBMEFITHE 5 |FHIEDY 5 5 5 |®©937 5
¥N =} X & A X
BHEER )
6|20 6% 6 6 6 6
& A Vi + X 7K
7 |B®B= 7 7 | TREEFER 7 7 7
+ X PN =) K ¥N
8 EBFHA 8 8 8 RADB 8 8 Z2NDAH
B 7K & A VN &
g [RR—vDH 9 9 g |WEER BFERR 9 9
A VN + X kS +
BHE D Z20H ZE0H
10| pansen 10/% 10 10| B amm 10 10
BRRIERR
3 & =] 7K + =|
BHEF2FRA T BEREOR
11 11 ”@757‘ 11 11 11
VIS + A x B A
REERRDE BAEH REKA
12 (EfEarsfzR ) 12 12 PTAR{TRAR 12 12 12
PN =} X & A X
13 13757 13|EABS 13 13 13
& A Vi + X VIS
14|PTARIREIR 14 14 |1 A 14 14 14 |FERXFT
+ X VN =} K PN
PTAZREIR Be EFREGES -
15 FER 15 15 15©§§% 15 g 15
= 7K & A PN A
HENRES TREAZHS CRTE-&
16“%@;%&%) 16 16 16 16 16
A VN + X kS +
17 17| SERER 17 17 17 17
X & =] K + =
%% ©557 TREBTHS CEETR 6ARE
18 18 18 18 18 18#@‘{?1~3-6¢4B§F§
S + A X =] B |E% e sn
19| TREEZES 19 19 19 19|8i& [CEEES 19 |FEXR
PN =} 3 & A PN
ZE0H =50 ZE0H X0 EAOR
20 20 PR 20 20 20 20
& A Vi + X 7K
21 21 21|ERT 21 21 21 |1~ SFHRRRT
+ X PN =} K PN
HER B ERE NS BT
22 22 22 AeEa 22 22 22 EEEe
= 7K & A X &
93 |FHEAM 23 BB EHOA 23 23 93| REHER 23
A VN + X & +
24 24| REORFRAY 24 24 24 24
X &= B 7K + =
25 25 25 25 25 25
VIS + A X B A
T NHRESGREE
26 PNFECoE (28 26 26 26(5,50 paneam | |26
X =] " 2 A FREEHER D%
27 27 Eﬁl‘%‘mA 27 27|FEREKS 27|25 %E(R 27
©Z8%
& A Vi + P Vi
28 28 28 28 28| @FRETELR 28
+ X X H X X
FERERD TREBZHS
29 29 29 29| fmpren 29 29
B K ko A 7N &
NEENCELES 30| PERAFHAR 30 30 30
R AR
PN + X +
31 31 31 31
X =] 7K H




